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QID : 1 - In the following question, select the related word from the given alternatives.
Door : Wood : : Shirt: ?
Frafafer wr & fr o Rreedt § & wwifie oo w1 g

FTATAT : At = s wefior = 2
Options:

1) Collar

T

2) Buttons

=T

3) Cuff

T

4) Cloth

FAET

Correct Answer: Cloth
TIET

Candidate Answer: Cloth
FAET

QID : 2 - In the following question, select the related letters
BLINK : IGPIR : : PINCH : ?
FErefeferer e & far e Pt § f wsfie s o g

BLINK : IGPIR : : PINCH : ?
Options:

1) WDUXO

2) XDVOP

3) VCTWP

4) WCDWO

Correct Answer: WDUXO
Candidate Answer: WCDWO

QID : 3 - In the following question see t the related number from the given alternatives.
4:64::6:7
Fraferter w7 o o Rreedi & ¥ st e w1 gm0

4:64::6:7

Options:

1) 106

2) 68

3)216

4) 196

Correct Answer: 216
Candidate Answer: 216

QID : 4 - In the following question, select the odd word from the given alternatives.

Fraferfrer wx % f2 o Rrpedt § 7 Free srer i g
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Options:
1) Car
T

2) Cycle

1
3) Truck
ks

) Road
hir s
Correct Answer: Road
aEw
Candidate Answer: Road
ET

QID : 5 - In the following question, select the odd letters from the given alternatives.

Fraferfr wx & frm w Freeedt & F frrr aaet wr g
Options:

1) FKQX

2) CHNU

3) Jouc

4) DIOV

Correct Answer: JOUC
Candidate Answer: JOUC

QID : 6 - In the following question, select the odd number pair from the given alternatives.

Frrafefar wx & fam w Repedt § & Frow s g £ gEm
Options:
1) 14 - 56
2)12-48
3)8-32
4)6 - 30

Correct Answer: 6 - 30
Candidate Answer: 6 — 30

QID : 7 - In the following question, select the odd number pair from the gi. » alternauves.

Fraferfre s # f o Freedt § @ Fraw s g e gm0
Options:

1) 5342 - 16

2)4629 -21

3) 1965 -21

4) 5344 - 16

Correct Answer: 5342 - 16

Candidate Answer: 5342 - 16

QID:8-
How many triangles a'a.ih="2 in the given figure?

& ok ampfa A fa ¥ Py ¥e
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Options:
1)4

2)5
3)6

47
Correct Answer: 5
Candidate Answer: 5

QID:9-
How many rectangles are there in the given figure?

& e gty & fhaer amaa Eo

Options:
1)7

2)8
3)9

4) 10
Correct Answer: 10
Candidate Answer: 10

QID : 10 -
In the given figure, what will come oppesite-io face
containing '2'?

& i gty #F 7 g w5 Rada @
Y

cnia]s]r
K
Options:
1)N
2)s
3)K
4R

Correct Answer: K
Candidate Answer: K

'SR ‘1!
AN FERLTY Y

‘m = 1|J'-'n£

o, ,.Q',p
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QID : 11 -
How many surfaces are there in the given figure?

& o8 i A fraeh mae €

Options:
1)8

2) 10
3)9

47
Correct Answer: 10
Candidate Answer: 8

QID:12-
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7% 3oy gl # A 3w W I A gAY
o7 & war i fafea &

I?I
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Candidate Answer:

i

QID : 13 -
A piece of paper is folded and puncshed,as shown
below in the question figures. . »m the given
answer figures, indicate how w '+ |l appear when
opened?

= & uyr sl ¥ REWw IgER wmeTe @
AT S JUL Wi F A T5 FY I G
S g game

HIERIERN
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Options:
1)

oooo

:

oooo

2)

el
afikata

3)

oo og
oo oo

oo oo
oo oo

4)

oooo

Correct Answer:

e
ot

Candidate Answer:

oo
Wikt

QID : 14 -

S
s
T
*
el

If a mirror is placed on the line AB, tFen which of the
answer figures is the right mirror. . 2ese of the given
figure?

Tf ue guT @ AB YR Y T@m sw, @ & 7S
T A # O sl W el ww e &
TE ZUuT g ger

TRIUMP H21

ARk B

G
== .‘-'..:5

Sarkari Results Gyan

(w=rd dw1 Jredt orade)

Sarkari Results Gyan
(e dot Arendt Hade)

Page - 6



BAL
r & sfz[:'"‘%

Sarkari Results Gyan
(F=8 3= At sra2e)

Options:
1)

FEH IMUIAT

2)

LHINIb K34

3)

LEINIE H3J

4)

1BINNd H3

Correct Answer:

1BINIb H3

Candidate Answer:

1EINIb HS!

QID : 15 - From the given alternatives, select the word which (a1 be rormed using the letters of the given word.

MOMENTARILY
Fraffer Frrert & # og wor g @ B m ae F g a0 e S e T T

MOMENTARILY

Options:

1) MOIST

2) TONER

3) YARD

4) LAID

Correct Answer: TONER

Candidate Answer: TONER

QID : 16 - Identify the diagram that best represents the relationship among the given classes.
Gold, Carbon, Metal

=g v s A A R o w % e  dE w e Prea s )

AT, FT, G
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Options:
1)

©o

QID : 17 -
In the given figure, how many Indian crick eter 3, e not
businessman?

& T T F, frae WTET i wcs, Aoy =

g7
/’-’
Cricketer / 4 & Indian /
Businessman /
=gmardy
Options:
1)41
2)23
3) 18
4) 19
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Correct Answer: 23
Candidate Answer: 23

QID : 18 -
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

ArafafEa gy & R o fawmeut # @ oy R
(7) & TUWT UT HET AT W1 B G

~
[44]
N

88
121

&

11

()]

Options:
1) 84

2) 88
3) 86

4) 80
Correct Answer: 84
Candidate Answer: 88

QID : 19 - In the following question below are given some statements followed by some co.ciu 'ons. Taking the given statements to be true even if they seem to
be at variance from commonly known facts. Read all the conclusions and then decide whi. - of me given conclusion logically follows the given statements.

Statements:
1. Some figures are small.
11. No small is red.

Conclusions:
1. All small are figures.,
II. Some red are small.

A= Fm xSl T AT S AT O = gy ey fEw o #) o st #r e, =g e A s et 1 s g afr froed o st e
Frarif w7+ i Fomr a1 et s am s S g ~ e 3

FqH:
1. wer st gkt @
L g% st Sl g

I1. % gy orer = #1

forepet:

L ot gt vt

11, 7 =rer g1 F)

Options:

1) Only conclusion (I) follows,

T Fereet (1) wft 31

2) Only conclusion (II) follows.

e Freed (1) =t 31

3) Both conclusion follow.

=t #F Preed wf

4) Neither conclusion (I) nor conclusion (II) follows.
= =1 Frewd (1) = & FreeT (1) = 2

Correct Answer: Neither conclusion (I) nor conclusion (II) follows.
AT Freet (1) = & Frewet (1) =t 31

Candidate Answer: Only conclusion (I) follows.
T frowt (1) ot 3
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QID : 20 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts. Read all the conclusions and then decide which of the given conclusion logically follows the given statements,

Statements:
L. Some pens are round.
II. All round are black.

Conclusions:

I. All black are pens.

II. Some round are black.
III. All round are pens.

Hrr ey F g T i T A 39 e O annf 3w et G o ) B et o1 o we, =g s s e s et & fawem g sl P oF s fee
e w7 i for o e 7 P, o mr st e o g

A
1. W werH e )
10, =t wirer =7
e
L 7t FTor e F
11, e 7T Frer
IIL. #rfT Trer weorsr 2
Options:
1) Only conclusion (III) follows.
Frmrer Freped (I0D) =t 20
2) Only conclusion (I1) follows.
T fred (I1) #rft 31
3) Only conclusion (II) and (III) follow.
T e (1) = (I00) =t 3
4) All conclusion follow.
P T
Correct Answer: Only conclusion (II) follows.
T o (1) =t 1
Candidate Answer: Only conclusion (II) follows.
Faer e (11) =t 21

QID : 21 - ] is the son of P. P is the sister of Q. Q is the son of M. How is M :elatea a #?

LPETTAP, Q F AT Q, M W IH 1 M, P #r Forer s wiwiferT 97
Options:

1) Daughter

il

2) Son

™

3) Unde

==

4) Mother or Father

AT @ foET

Carrect Answer: Mother or Father
HAT T o

Candidate Answer: Daughter

QID : 22 - Anil is the husband of Suman who is the daughter of Pankaj. Rahul is the only brother of Suman. How is Anil related to Rahul?

wfier, Tae F1 afy § S o i et 31 e, e T v g 3 e, Trger 7 R ar At 37
Options:

1) Brother-in-law

i

2) Father
fe=m

3) Brother

s

4) Son

™

Correct Answer: Brother-inlaw

=
Candidate Answer: Brother-in-law
Eie
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QID : 23 - The present ages of Rohit and Mohit are 48 years and 32 years respectively. What was the ratio of ages of Rohit and Mohit 12 years ago?

TR = Wi 7 AT AT FHer 48 A ST 32 AT F1 12 A A T AT Arige F AW F AT FAT 77
Options:

1)9:4

2)9:5

3)6:5

4)8:5

Correct Answer: 9 : 5

Candidate Answer: 9: 5

QID : 24 - A, B and C alone can do a work in 48, 12 and 24 days respectively. A, B and C together can complete two third of the same work in how many days?
A, B =T C U w7 F % 48, 12 v 24 B F w7 A 1 A, B 7ur C P gwaTd ¥ & Perd i fea R F por e e 87

Options:

1)32/7

2) 32/5

3)28/9

4) 27111
Correct Answer: 32/7
Candidate Answer: 32/7

QID : 25 - In the given question, there are four figures given out of which three are similar insome i . e and vne is not like the others. Select the figure which is
odd one out.

oy o oy &, | argptee o g e 9 i Fef o o F e o e F A e e © oo 0 Fae arpfE e g
Options: =

B

»
K

2)

3)

b

4)
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Candidate Answer:

K

[<

QID : 26 - [n the given question, there are four figures given out of which three are similar in some manner and one is not like the others. Select the figure which is
odd one out.

Ry i wer #, = At # o e ¥ i Rl uF g F ara o we § A st B 3 fer st gtm
Options:

5

2)

3)

4)

1|2 L

Correct Answer:

I

Candidate Answer:

|

QID : 27 - In the given question, there are four figures given out of which three are similar in some manner and one is not like the others. Select the figure which is
odd one out.

B ser #, = vt 4 wd § R # fim Bl o g F ara o wan § qar ww st few ) fe st wr 5fm
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v
BN

”

Correct Answer:

v

Candidate Answer:

v

QID : 28 - In the following question, select the miss @ 1. nber from the given series.

4,6,10,18,34,?
Fraterrar ser % R Prpedt & & o % 5 T Ay

4,6,10,18,34,?
Options:

1) 62

2) 66

3)54

4)78

Correct Answer: 66
Candidate Answer: 66

QID : 29 - In the following question, select the missing number from the given series.
4,9,19,39,7
Frafefin w1 § frm o Rt & & o A% e Fiiem

4,9,19,39,?
Options:

1)70

2)79

3)78

4) 64

Correct Answer: 79
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Candidate Answer: 79

QID:30 -
In the following question, select the figure which can
be placed at the sign of guestion mark (?) from the
given alternatives.

Eeaemem uw & o o Reedt & @ uw By
(?) & T W A arell AFia P gew

L Do (] e

Options:
1)

.

2)

Lr

3)

i

4

iy i

Correct Answer:

il g 8

Candidate Answer:

LT,
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In the following question, select the figure which can
be placed at the sign of question mark (?) from the
given alternatives.

=t vy & Bu ow Reedt & & oy R
(?) & A T HE drell HHT B T

o[ &= ||| [ 2

Options:

1)

[l

2)

3)

+[¢]

4)

jo

Correct Answer:

Y
A

Candidate Answer

Jo

GET IT ON
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QID:32-
In the following question, select the figure which can
be placed at the sign of question mark (?) from the
given alternatives.

Teafefag vw # Ry ow foedt 3 @ uw R
(?) & TUT T A Al AHES A g

A O
[u] O A ?
A [ A
Options:
1)
A
a
2)
AlO
3)
A
[m]
4)
&
=]
Correct Answer:
A
]
Candidate Answer
A
W]

QID : 33 - [n a certain code language, "FLAIR" is written as "96432" and "TIGHT" is written as "73817". How is "FLIGHT" written in that code language?

e ffire £z 9T #, "FLAIR" %7 "96432" 77 "TIGHT" %7 "73817" foram == #1 =7 7% wraw # "FLIGH T" =7 fir w=1e Feram wmom?
Options:

1) 871635

2) 963817

3) 963827

4) 986273

Correct Answer: 963817

Candidate Answer: 963817
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QID : 34 - In a certain code language, "ALOCK" is written as "47" and "STAIR" is written as "67". How is "RUST" written in that code language?

e Rrfire Fre 9o #, "FLOCK" =1 "47" 71 "STAIR" 51 "67" frar wraw &) 72 %1% war & "RUST" =1 ey ware v wmomr?
Options:

1)73

2)76

3)75

4)78

Correct Answer: 78

Candidate Answer: 78

QID : 35 - In a certain code language, "SCIENCE" is written as "VZLBQZH". How is "FRUSTOM" written in that code language?

e Rrfire Fre 9o #, "SCIENCE" F1 "VZLBQZH" oy sirar #1 7o #1= wrar # "FRUSTOM" #1 Ty sk Fera wmramr?
Options:

1) INYPWLP

2) IOXPWLP

3) INYQWLQ

4) JOXPWLQ

Correct Answer: IOXPWLP

Candidate Answer: IOXPWLP

QID : 36 - Which of the following is the most close to the definition of Oligopoly?

Frafafira & # Fra-a7 geaterr 1 afoar & weits e 32
Options:

1) The cigarette industry

T T=nT

2) The barber shop

g fir g

3) The welding shop

Eieukai-cact

4) Wheat growing farmers

Erdctack Glcaiot

Correct Answer: The cigarette industry
ferez zmT

Candidate Answer: Wheat growing farmers
Erdcback Gicaiot

QID : 37 - One of the essential conditions of "perfect competition" 5

"o EETRET" F AT oAy 7 A &
Options:

1) product differentiation

ZFITE H i

2) multiplicity of prices for identical products of & - ' @a e time
Fft v = F o e TR & P i w waps

3) many sellers and a few buyers

e wferr S T T

4) Same price for same things atone - me

Fft v T F o FE AT F o™ T e
Correct Answer: Same price =~ s« me wiings at one time
Tt e we F oo S AT & fore o AT e
Candidate Answer: product differentiation
=T 7 P

QID : 38 - Which agency acts as a regulator for Mutual Funds?

FA-t T T ¥ o vw AT f it e s 82
Options:

1) IRDA

ArgarTHT

2) SEBL

=t

3) RBI

AretaTs

4) DRI

Frarears

Correct Answer: SEBI
T
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Candidate Answer: SEBI
T

QID : 39 - In which year was Imperial Bank of India established?

et & aiw Ziar fF wqraar B o 6 0 62
Options:

1) 1921

2) 1930

3) 1935

4) 1955

Correct Answer: 1921

Candidate Answer: 1935

QID : 40 - Which of the following is NOT the work of the legislature?

Fraferr § ¥ F 17 A7 ST 71 T T8 87
Options:
1) Making law
: AT
2) Budgeting
AAZ FATAT
3) Passing of budget
FAE T FoAT
4) Control on the executive
a7 e
Correct Answer: Budgeting
FAAT FATAT
Candidate Answer: Control on the executive

FTETIRET a7 P

QID : 41 - Who is the pioneer of Social Contract Theory?

AT RS i e
Options:

1) Hobbes

e

2) Locke

i

3) Rousseau

4) All options are correct

it BT i

Correct Answer: All options are correct
Candidate Answer: Rousseau |

Q!

=]
)

T #PranferE weirer o Rt 7 @' v i warrAr o w2
Options:

1) 651 Amendment

65-AT FTE

2) 69 Amendment

69-77 oM

3) 72 Amendment

72-70 wHomaA

4) No option is correct

=15 & Breer T AT 2

Correct Answer: 69 Amendment
69-77 wemeT

Candidate Answer: 69 Amendment
69-AT T

QID : 43 - Article 368 deals with

aT=E 368 Eickae &

42 - By which Constitutional A*ana -+ * Delhi was provided with Legislative Assembly?
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Options:

1) Announcement of emergency

AT £ S

2) Suspension of fundamental rights in special circumstances

Frdrer iRt 7 wifer afim w1 e

3) Power of issuance of writ by judiciary

=TT T for wrd s o o

4) Power of Parliament for constitution amendment

R e A et

Correct Answer: Power of Parliament for constitution amendment
=ifErar woireae £ T gt

Candidate Answer: Power of Parliament for constitution amendment

HRrT HoTrer i Hwe o
QID : 44 - Which Harappan site is located in Haryana?

FH-AT FECATE e greArn i e 37
Options:

1) Dholavira

sffemefirr

2) Rakhigarhi
3) Kalibangan
FTEET

4) Alamgirpur

Correct Answer: Rakhigarhi
Rtui

Candidate Answer: Rakhigarhi
Tt

QID : 45 - "Chor Minar" in the Hauz Khas area of Delhi was constructed by

Freeft & g @ gy H =T oAETT =TT AL T
Options:
1) Alauddin Khilji

AT Forerit

2) Aurangzeb

3) Firoz Shah Tughlag

FaTer 9 g
4) Akbar

E e

Correct Answer: Alauddin Khilji
FemaEr fereri

Candidate Answer: Akbar

E LT

QID : 46 - First time during which Indias 3 onal movement "Vande Mataram" became the popular song of people?

TR P AT T e ¢ T e WA S ST AR W e

Options:
1) Khilafat Movement
e Ao

2) Quit India Movement

AT BTET A==

3) Non-Co-operation Movement
A=A

4) Swadeshi Movement
ey AT

Correct Answer: Swadeshi Movement

wrEef AT

Candidate Answer: Swadeshi Movement
Tt AT
QID : 47 - Which one of the following places was the short term capital of Delhi Sultanate?

et § % F17-A7 U v et aede i qeaarentT T oft?
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Options:
1) Devagiri
At

2) Ahmedabad
AZHETEATE
3) Jaipur

R o
4) Kurukshetra

RaTES
Correct Answer: Devagiri
F=f

Candidate Answer: Devagiri
AT

QID : 48 - In which state is the 'Adhai Din Ka Jhonpra' located?

g T 1wy e e # R
Options:

1) Uttar Pradesh

T TR

2) Maharashtra

WETTE

3) Rajasthan
TR

4) Madhya Pradesh
T TEHIT

Correct Answer: Rajasthan
TR

Candidate Answer: Rajasthan
TTREAT

QID : 49 - In which state is Yoshang festival celebrated?

o =TT T 7T H WA WA 87
Options:

1) Manipur

2) Maharashtra

AR

3) Jharkhand
HTETE

4) Goa

AT

Correct Answer: Manipur

Candidate Answer: Jharkhand
bR e

QID : 50 - Eastern boundary of Kash =i

ForfiT £ 7 o .
Options:
1) Siachen Glacier

Tt
2) Gilgit-Baltistan
Frerfra-areeaTT
3) Karakoram
FITHTH
4) Ladakh region
TR A
Correct Answer: Ladakh region
TR A
Candidate Answer: Ladakh region
R AT

QID : 51 - Jalpaiguri lies on the bank of the river

FEAMEE A A aT Ram
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Options:
1) Ganga
T

2) Yamuna

T

3) Teesta

A

4) Brahmputra

AT

Correct Answer: Teesta

Candidate Answer: Brahmputra
ke

QID : 52 - Which physical feature acts as a watershed between the Indus and the Gangetic river basins?

F-AT i e fy e o A it F i - R aity o s 2
Options:

1) Aravali Ridge

gereredt P

2) Shivalik Hills
ot t

3) Vindhya ﬁlange
ey At
4) No option is correct

Correct Answer: Aravali Ridge

ATt Feor
Candidate Answer: Shivalik Hills

Foramfer et
QID : 53 - Where is India's only active volcano Barren Island located?

TR T UFATT AT ey 5 vt wei e 2
Options:

1) Andaman Islands

AT TR

2) Nicobar Islands

FrerraTT feg

3) Lakshadweep

4) Minicoy
frfeertr

Correct Answer: Andaman Islands
ST fE

Candidate Answer: Minicoy
forfeertr

LK g
QID : 54 - At present what is the rar% c. "¢ a among the cotton exporting countries of the world?

AT # e & Fr T 29 2 AT WA T E?
Options:

1) First

T

2) Second

=

3) Third
T
4) Fourth

Correct Answer: Second
e

Candidate Answer: Third

e

QID : 55 - Which area of India receives majority of its rainfall from the Northeast Monsoon?

ST T FIA-AT 9% AT 9T 7 ATRFT o A7 FAw-To A # 9 Fmr 32
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Options:

1) Kerala

kol

2) Marathwada

HIZATET

3) Gangetic West Bengal

wfter afErer s

4) Coromandel and Rayalaseema

FETHEA 47

Correct Answer: Coromandel and Rayalaseema
FCTHE He

Candidate Answer: Coromandel and Rayalaseema

FICTHEE 9T TreroriET
QID : 56 - When the speed of a moving body doubles, then what is the change in its kinetic energy?

o s e e i i SopEr F w3, A s afEe s= 0§ = e geEr
Options:

1) Remains unchanged

O aT A

2) It gets quadrupled

et Fr et

3) It gets tripled

Frpft &y el &

4) It gets doubled

et 1

Correct Answer: It gets quadrupled
<t g et &

Candidate Answer: It gets quadrupled

QID : 57 - Which of the following has the maximum specific heat capacity?

Frafafera & # freefr Riftre sy anfrar meer afier 32
Options:

1) water

W

2) piece of iron

T ZFET

3) piece of gold
T TFET

4) chloroform
FACIEH

Correct Answer: water
-

Candidate Answer: water
T i %
QID : 58 - The instrument used to reau.. ~ ' ~mperature to a particular degree is called

ATTETA 1 et e e et n cF U gw g AT IS wgemAra
Options:

1) Thermostat

THERE

2) Thermometer
T
3) Pyrometer

=

4) Thermocouple
e

Correct Answer: Thermostat

Candidate Answer: Thermometer

QID : 59 - Human nails are made up of

T FAGA__ FAAFA
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Options:
1) Pigment

2) Elastin

Tt
3) Albumin

4} Keratin
Correct Answer: Keratin

Candidate Answer: Pigment
iz

QID : 60 - Which artery does NOT carry oxygenated blood in human body?

=1 A qAAT AT S § S - T 1 T e w37

Options:
1) Cardiac artery
wET a

2) Renal artery
T A

3) Hepatic artery
Rafer aE

4) Pulmonary artery
TEHA ATET

Correct Answer: Pulmonary artery
TEEE AT

Candidate Answer: Pulmonary artery
TEHA ATET

QID : 61 - Green spinach comprises in abundance.

FAOMEHITTAATE__ gETH
Options:
1) Vitamin A
=T A
2) Vitamin B
T B
3) Vitamin C
E
4) All options are correct
oft Preer T
Correct Answer: All options are correct
oft BT i
Candidate Answer: All options are correct

1t P &

QID : 62 - Which hydrocarbons are t“& s .= constituents of LPG?

T FIEEETEA Tt F g s 2
Options:

1) Methane and Ethane

wro #T T

2) Propane and Butane

T T TR

3) Pentane and Benzene

e AT FA

4) Only Methane

T

Correct Answer: Propane and Butane
blec i kel

Candidate Answer: Propane and Butane
S i TR

QID : 63 - Which of the following is also known as Galena?

Frafefir & # 14 fomr F A & ff | w22

Sarkari Results Gyan

(Tad e et wade)

Page - 23



Sarkari Results Gyan

(F=8 3= At sra2e)

Options:
1) Lead sulphate
T AT
2) Lead oxide
HE AFTET
3) Lead sulphide
T ATETET
4) Calcium sulphate
TR AT
Correct Answer: Lead sulphide
E ATETEE
Candidate Answer: Lead oxide
T ATTE

QID : 64 - Which of the following is a mangroves flora?

Frafefar & & 1 o wF de et 32
Options:

1) Spruce

-

2) Moss

|

3) Rhizophora

TIEATEAT

4) Cypress

HAEAT

Correct Answer: Rhizophora
TIEATEAT

Candidate Answer: Cypress
AEAT

QID : 65 - Air Quality Index is

A IATEETIEEE

Options:

1) an air pollutant measuring machine

AT T HF T

2) a measuring scale to show quality of air

A1 F AT =9 =" oF R

3) used for measuring humidity level

ATEAT T qA F o g g g

4) used for forecasting rain

=T FT AT FrTA F e e fer WA g

Correct Answer: a measuring scale to show quality.of « - |
A F [EET 29 AT 0F W

Candidate Answer: an air pollutant measuring - ach e

A s e

QID : 66 - In which of the following #&cs, 1« =, benthic zone is found?

Frafefir & # f mifeRafas =29 - a0 - dor o w327
Options:

1) Tundra Ecosystem

T AR A

2) Forest ecosystem

= oA A

3) Water ecosystem

Eakuniccekc

4) Desert ecosystem

T arfRatE 5

Correct Answer: Water ecosystem
wer oAt A

Candidate Answer: Water ecosystem
wer arfeRatE =

QID : 67 - On the occasion of Children's Day 2017, which state government launched 'Mukhyamantri Shala Suraksha Yojana' for the children?

et ey 2017 & vk a7 fer e Avwe A agt ¥ o gt e e araer o 12
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Options:
1) Chhattisgarh
i

2) Uttar Pradesh
AT T
3) Maharashtra

HETE

4) Himachal Pradesh

=TT TR

Correct Answer: Chhattisgarh
TETE

Candidate Answer: Uttar Pradesh
AT TR

QID : 68 - The 'SAMPADA' scheme of Government of India is related to

AT ATETT F e (SAMPADA) AT __ AR
Options:

1) Rural banking

e

2) Food processing

=T T

3) Insurance for BPL families

Arfoer afesmet & o it

4) Irrigation sector

for=ms o

Correct Answer: Food processing
T T

Candidate Answer: Irrigation sector
e d

QID : 69 - Which of the following is an indigenously built nuclear powered submarine indu-%ed in service of Indian Navy in 2017 ?

= 2017 &, Sreerr v o A # onfyer Prafatim € F £ A v v A ey - e
Options:
1) Sindhuraj N T —

2) Aridhaman
Atz

3) Sagarika
=T

4) Godavari
=T

Correct Answer: Aridhaman

Bl
Candidate Answer: Sagarika
AT

QID : 70 - Which is NOT true about "Dig ¢~ ~r'?

FfremT & =re # = w7 a3

Options:

1) Copy of document in electronic rorm is stored on individual's own computer or mobile phone
=T #1 f ZerRitE = F =i T R ST A v v a7 e

2) One GB storage space is provided

e TR T ST FAT TS ST AT

3) Aadhaar linking is mandatory

SATHTT ¥ WTEAT AT F

4) All options are correct

Correct Answer: Copy of document in electronic form is stored on individual's own computer or mobile phone

=T 7 i i = F = & Pl S v S e aw Smia e
Candidate Answer: All options are correct

weft Py o &

QID : 71 - The 2020 Summer Olympic games will be hosted by

2020 tftew St e £ Tt zrer i wmwin
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Options:
1) Mexico

2) Tokyo

T

3) Paris

afear

4) Los Angeles

T e

Correct Answer: Tokyo
=T

Candidate Answer: Tokyo
T

QID : 72 - Where was the Under-17 FIFA World Cup-2017 held?

FET-17 e Bra F7-2017 T35 Ar=rter B maw ar?
Options:
1) Brazil

1

2) England

3) India

]

4) Spain

¥

Correct Answer: India

]

Candidate Answer: India

]

QID : 73 - China recently purchased a 70 percent stake in a strategically located Hambante's dees water port. This port is located in which country?

=1 7 v TR waer FEeATAT T A=y ¥ 70 wiEem e mdf i ag sy FreE - Rer E?
Options: i -
1) Bangladesh

AT

2) Myanmar

HTHTE

3) Pakistan

i

4) Sri Lanka

frerrT

Correct Answer: Sri Lanka

ST

Candidate Answer: Bangladesh

Eliict]

QID : 74 - Nepal and Bhutan recentiv amﬂ&nes which ot the following entities seeking collaboration to make use of India's digital payment services?

AT A A g W A w&%ﬁwmﬁﬁﬁaﬁﬁﬂﬁ%ﬁmmwmﬁm
Options:

1) SEBI

T

2) Union Ministry of Finance

w5 Py W

3) NPCI

s

4) UIDAI

Correct Answer: NPCI

i

Candidate Answer: Union Ministry of Finance

QID : 75 - Which film won the coveted Golden Peacock Award at the 47t [nternational Film Festival of India (IFFL)?

475 AT AT Feew AR (ArTETEATs) ¥ Mrees fretE e e feew & o
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Options:

1) The Throne

T AR

2) Daughter

T

3) Mellow Mud

WAl WE

4) Rauf

TIF

Correct Answer: Daughter
Eicad

Candidate Answer: The Throne
A

QID : 76 - Who among the following became the first woman in the world to be awarded IMO Award for Exceptional Bravery of Sea?

Frafeter & & £ oz § swware fmn § R ariuasr s & weate e At fea £ gow wiger =1
Options:

1) Kirti Lyyer

i =

2) Sujata Malhotra

FATAT W T

3) Archana Shastri

AT oTRT

4) Radhika Menon

=TT HeA

Correct Answer: Radhika Menon
=TT HA

Candidate Answer: Sujata Malhotra
FATAT HEE AT

QID : 77 - The GeM Portal of Government of India deals with

AT AT FT ATETH T __ weEEfEE
Options:
1) Telemedicine

2) Distance learning
s Ation

3) Public procurement

4) Aadhaar based digital signature

AT iR e geaT

Correct Answer: Public procurement W
A

Candidate Answer: Aadhaar based digital sign." "=

AT et e geaT

QID : 78 - What is the function of MUORE %, vk which was recently set up by Government of India?

T ATETT JTET F00 AT Ny e T e 1 3y 37
Options:

1) To print currency

TET ST

2) To allow deposits of untaxed income

FIHF AT FT AT FT AFA T

3) To provide insurance cover to the poor

T F T TR T

4) To provide loan and finance to micro enterprises

T T FT F A T T FTA

Correct Answer: To provide loan and finance to micro enterprises
T TN AT AT =1 Py wrereer v

Candidate Answer: To provide loan and finance to micro enterprises
TEH T FT L A T T FA

QID : 79 - Sharing of which river's waters are a bone of contention between India and Bangladesh?

TR A e F = B A F W ¥ Az 51 qww P
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Options:

1) Kosi

Eaun

2) Brahmaputra

SR

3) Teesta
A

4) Bagmati
el

Correct Answer: Teesta

Candidate Answer: Kosi
AT

QID : 80 - Rio summit is associated with

Far e e AR f
Options:

1) Wet lands

o qf

2) Ozone depletion
AT o

3) Greenhouse gases

e i

4) Convention on Biological Diversity

wor-FRrfErerET v A

Correct Answer: Convention on Biological Diversity
Ser-FfEnET 9 T

Candidate Answer: Greenhouse gases

s i
QID : 81 - The water pollution in the rivers are measured by -

AfE= % Fer ST F = ZTET | AT
Options:

1) amount of dissolved chlorine

w7 Frafe A

2) amount of dissolved czone

A F1 Pt =

3) amount of dissolved nitrogen

ArgErere 1 fErefe wrw

4) amount of dissolved oxygen

At £ Fraf e

Correct Answer: amount of dissolved oxygen
Ao £ Frafe v

Candidate Answer: anount of dissolved oxyaéfi
At £ Rt

QID : 82 - Hugh Hefher, died at the a4c =" % . in September 2017. He was the founder of

M EFATFT 91 = spear 7 w2017 WA T mmoA _ ¥ HETTE
Options:

1) L'Oreal Cosmetics

2) Johnson & Johnson

HIH T AT

3) Playboy Magazine

werErTeT T

4) Science Journal

AT AT

Correct Answer: Playboy Magazine
T T

Candidate Answer: Playboy Magazine
T TR
QID : 83 - Before becoming the President of India, Ram Nath Kovind was the Governor of which state?

TR ST T A 7 TE TTHATS FE B e & rerer 97
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Options:

1) Rajasthan
AT

2) Bihar

3) Madhya Pradesh
T TR

4) Uttar Pradesh

AT T

Correct Answer: Bihar

Candidate Answer: Bihar

QID : 84 - Which of the following cities has become the first open-defecation free city in India?

Frafefir & # FTa-A7 o7 e F o= I [ 0 AT T T 95T 37
Options:

1) Indore

=

2) Vishakhapatnam

FromaTTzaT

3) Mysuru

4) Amritsar

HYAAT

Correct Answer: Mysuru
g

Candidate Answer: Mysuru

e

QID : 85 - Which state will develop an eco-friendly bridge over a canal cutting across the Y1~ ce ‘dor linking?

Frafertr & 7 F17 A7 T T T § v AgT 1% T F Ager 7 7 e wom
Options:

1) Telangana
HERTAT

2) Andhra Pradesh
AT TR

3) Madhya Pradesh
T TEIT

4) Assam

Bt

Correct Answer: Telangana
e

Candidate Answer: Andhra Pradesh
AT T2

QID : 86 - What s the value of v0.062

v0.0625 =T w1 7T 3?7
Options:

1)25

2)05

3)0.25

4)25

Correct Answer: 0.25
Candidate Answer: 0.25

QID : 87 - Whatis the valueof [(1 + 2 + 3 + 4 + ...... 20)/7]?

[l+2+3+4+... 20)/7] % WA AT 27
Options:

1)30

2)35

3)40

4)50

Correct Answer: 30

Candidate Answer: 30
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QID : 88 - Which of the following fraction is greater than 2/3?

Fraterr @ 7 Frr A S 2/3 T
Options:

1)1/2

2)3/7

3)4/7

4)6/7

Correct Answer: 6/7

Candidate Answer: 6/7

QID : 89 - What is the smallest four digit number which when divided by 2, 3, 4 and 6 leaves remainder 1 in each case?

2, 3, 4 7T 6 3 AT F I, W W ATE 1 E Avedt = st ff wwaer g v w4 32
Options:

1) 1008

2) 1005

3) 1009

4) 1007

Correct Answer: 1009
Candidate Answer: 1009

QID : 90 -

3.2x3.2)+(27x2.7)=(32x27),,

: (
What s the value of
N Bt 0) B Tx0 7]

(3.2x3.2)+ (27X 2.7)+(3.2x27)

T Al T 7
(3.2x3.2x3.2)- (2.7x2.7x 2.7) €

Options:

1)1

2)1/2

3)2

4) 3/2

Correct Answer: 2
Candidate Answer: 1

QID : 91 - Ifa number A is 30% less than another number B aild B i 30-% more than 150, then what is the value of A?

af% o AT A, T FEET B 7 30% T E 74T B, 150 7 2 0% AfE F, A AFT A o= A2
Options:

1) 144

2) 156

3) 136

4) 126

Correct Answer: 126
Candidate Answer: 126

1 e

QID :92-Ifa =(5/4)bandb = 10), then whatisa: b:c?

afFa=(5/4)b b = (2/10)caATa: b: cFTE?
Options:

1)15:12: 20

2)1:1:2

3)5:2:10

4)5:4:20

Correct Answer: 5: 4: 20

Candidate Answer: 5:4: 20

QID : 93 - The average age of 11 players and their coach is 33 years. The average age of first 5 players is 29 years and the average age of other 6 players is 30
years. What is the age (in years) of the coach?

11 Feremfeet s T wiSters 7 s Ay 33 AT f Tger 5 RrentEt 7 sl avy 29 =T & AT 9 6 et £ sie avy 30 =0T #) wfdrers ¥ vy (A ) v e
Options:

1)71

2)75

3)68

4) 64
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Correct Answer: 71
Candidate Answer: 71

QID : 94 - What will be the difference (in Rs) between the compound interest and simple interest on Rs 8000 for 2 years at the rate of 2.5% per annum?

8000 = o 2.5% sferrd i =i =+ 7 2 =T ¥ SweiE S 2 W ST W A+ (7 W) 7 e
Options:

1)125

2)75

3)10

4)5

Correct Answer: 5

Candidate Answer: 12.5

QID : 95 - If 40 chairs are bought for Rs 10000, then how many chairs must be sold for Rs 10000 so as to gain 60%7?

af% 40 =t 10000 = & =8t wE €, 41 60% =y 57 F oy 10000 = & Bt it #=it st =nfgm?
Options:

1)25

2)30

3) 15

4)20

Correct Answer: 25

Candidate Answer: 15

QID : 96 - Piyush marks the price of his article 30% more than its cost price. If he sells the article for Rs 786 afte. ."owing a discount of 20%, then what will be the
cost price (in Rs) of the article?

i et A i e A T A g A 30% whw A w4 At 200 gz 3 E wary A A T80 7 I g, W orwy 1 AT e (7 ) v grme
Options:

1) 600

2) 700

3) 680

4) 750

Correct Answer: 750

Candidate Answer: 750

QID : 97 - What will be the ratio of the area of square to the area of ' -insc bed in it?

T T AT AT T ATl T A F AT AT 4T T2
Options:

1)15: 11

2)14: 11

3)33:26

4)25: 22

Correct Answer: 14 : 11

Candidate Answer: 14 : 11

QID : 98 - A man travelled four equa’ dis..i * =s of 3 km at speeds of 10, 20, 30 and 40 km/hr respectivel

s peed ; 20, 1d 40 km/hr respectively. What is his average speed (in km/hr)?
e =rtee 3 P, = a2t w0 o 10, 20, 30 4r 40 B S o wifE # A w1 st dvea i (o e ®) e

Options:

1) 14

2) 192

3)2238

4)16.8

Cormrect Answer: 19.2

Candidate Answer: 22.8

QID : 99 - P started a business with Rs 80000 and after some months Q joined with Rs 60000. If the profit at the end of the year was divided in the ratio 2 : 1, then
after how many months did Q joined the business?

P = =rTIE 80000 = & AT A T A4 77 WEH T Q, 60000 F F ATS IR GE T A AT F dA G ATT F 21 1 F A F A=y 4w, 7 Q = 7 ey wihe
AT ST FAT?

Options:

1)4

2)6

3)5

47

Correct Answer: 4

Candidate Answer: 4
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QID : 100 - Fand M together can do a piece of work in 8 days. F alone can do the same work in 12 days. In how many days can M alone do the same work?

F 7 M Forere o 57 %7 8 3 F %7 \ser 1) F arpem =t £ #1112 B F w7 A= 310 M 3w w0 s G B wawar 3
Options:

1)8

2)12

3) 24

46

Correct Answer: 24

Candidate Answer: 24
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